



## Some Extensions of Coefficient Problems for Bi-Univalent Ma-Minda Starlike and Convex Functions

Liangpeng Xiong<sup>a</sup>, Xiaoli Liu<sup>a</sup>

<sup>a</sup>The Engineering and Technical College of ChengDu University of Technology, LeShan, SiChuan, 614007, P.R. China

**Abstract.** Motivated by the works of H.M.Srivastava et al. [7], we introduce and investigate two new general subclasses  $\mathcal{H}_{\mathcal{T}}(\varphi, \psi, \alpha)$ ,  $\mathcal{H}_{\mathcal{T}}^{h,p}(\alpha)$  of bi-starlike and bi-convex of Ma-Minda type functions. Bounds on the first two coefficients  $|a_2|$  and  $|a_3|$  for functions in  $\mathcal{H}_{\mathcal{T}}(\varphi, \psi, \alpha)$  and  $\mathcal{H}_{\mathcal{T}}^{h,p}(\alpha)$  are given. The results here generalize and improve the corresponding earlier works done by Ali et al.[1] and Brannan et al.[2].

### 1. Introduction

Let  $\mathcal{A}$  denote the class of functions which are analytic in  $\Delta = \{z \in \mathbb{C} : |z| < 1\}$  and normalized by the conditions:  $f(0) = f'(0) - 1 = 0$ . Let  $\Omega$  be the class consisting of functions  $w(z) : w(0) = 0, |w(z)| < 1, w(z) \in \mathcal{A}$ . An analytic function  $f$  is subordinate to an analytic function  $g$ , written  $f(z) < g(z)$ , if there is an analytic function  $w(z) \in \Omega$  such that  $f(z) = g(w(z))$ .

Ma and Minda [6] unified various subclasses of usual starlike and convex functions for which either of the quantity  $\frac{zf'(z)}{f(z)}$  or  $1 + \frac{zf''(z)}{f'(z)}$  is subordinate to a superordinate function.

A function  $f \in \mathcal{A}$  is said to be bi-univalent in  $\Delta$  if both  $f$  and  $f^{-1}$  are univalent in  $\Delta$ . Let  $\mathcal{T}$  denote the class of bi-univalent functions. It is well known that every univalent function  $f \in \mathcal{A}$  has an inverse  $f^{-1}$ , defined by  $f^{-1}(f(z)) = z (z \in \Delta)$  and  $f(f^{-1}(w)) = w (|w| < r_0(f); r_0(f) \geq \frac{1}{4})$ , moreover, the function  $f^{-1}$  is given by

$$f^{-1}(w) = w - a_2\omega^2 + (2a_2^2 - a_3)\omega^3 - (5a_2^3 - 5a_2a_3 + a_4)\omega^4 + \dots \quad (1.1)$$

Recently, H.M.Srivastava et al. [7] introduced two new subclasses of the function class  $\mathcal{T}$  and obtained the bounds on coefficients  $|a_2|$  and  $|a_3|$  with them. Subsequently, several authors studied the coefficient problems for kinds of subclasses of functions related  $\mathcal{T}$  (see[1,3,5,8,9,10]).

**Definition 1.1.** A function  $f \in \mathcal{T}$  is said to be in the  $\mathcal{H}_{\mathcal{T}}(\varphi, \psi, \alpha)$  if the following conditions are satisfied:

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} < \varphi(z)$$

2010 Mathematics Subject Classification. Primary 30C45; Secondary 30C50

Keywords. Analytic functions, Bi-univalent functions, Bi-convex functions, Bi-starlike functions, Coefficient bounds.

Received: 23 August 2012; Revised: 10 January 2014; Accepted: 20 December 2014

Communicated by Miodrag Mateljević

The first named author supported by the Scientific Research Found of Sichuan Provincial Education Department of China(14ZB0364).

Email addresses: xlpwxf@163.com (Liangpeng Xiong), xiaoliliu2006@126.com (Xiaoli Liu)

and

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} < \psi(\omega),$$

where  $g(\omega) = f^{-1}(\omega)$ ,  $\alpha \geq 0$ ,  $\varphi$  and  $\psi$  are analytic functions with positive real part in  $\Delta$ , satisfying  $\varphi(0) = \psi(0) = 1$ ,  $\varphi'(0) > 0$ ,  $\psi'(0) > 0$ .

Without loss of generality, let  $\varphi(z)$  and  $\psi(z)$  has a series expansion of the form

$$\varphi(z) = 1 + A_1z + A_2z^2 + A_3z^3 + \dots, (A_1 > 0) \quad (1.2)$$

and

$$\psi(z) = 1 + B_1z + B_2z^2 + B_3z^3 + \dots, (B_1 > 0). \quad (1.3)$$

In fact, we can note that  $\mathcal{H}_{\mathcal{T}}(\varphi, \varphi, \alpha) \equiv \mathcal{L}_{\mathcal{T}}(\alpha, \varphi)$ ,  $\mathcal{H}_{\mathcal{T}}(\varphi, \varphi, 1) \equiv ST_{\mathcal{T}}(\varphi)$ ,  $\mathcal{H}_{\mathcal{T}}(\varphi, \varphi, 0) \equiv CV_{\mathcal{T}}(\varphi)$ , where the classes  $\mathcal{L}_{\mathcal{T}}(\alpha, \varphi)$ ,  $ST_{\mathcal{T}}(\varphi)$ ,  $CV_{\mathcal{T}}(\varphi)$  were defined by Ali et al. [1].

**Definition 1.2.** A function  $f \in \mathcal{T}$  is said to be in the  $\mathcal{H}_{\mathcal{T}}^{h,p}(\alpha)$  if the following conditions are satisfied:

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} \in h(\Delta) (z \in \Delta)$$

and

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} \in p(\Delta) (\omega \in \Delta),$$

where  $g(\omega) = f^{-1}(\omega)$ ,  $\alpha \geq 0$ , the functions  $h, p : \Delta \rightarrow \mathbb{C}$  are constrained that

$$\min\{\Re(h(z)), \Re(p(z))\} > 0 (z \in \Delta)$$

and  $h(0) = p(0) = 1$ .

In particular, taking  $\alpha = 1$  and  $\alpha = 0$  in Definition 1.2, we can obtain the subclasses  $\mathcal{S}_{\mathcal{T}}(h, p)$  and  $\mathcal{C}_{\mathcal{T}}(h, p)$  of bi-starlike of Ma-Minda type and bi-convex of Ma-Minda type functions, respectively.

In this paper, some coefficient problems on functions classes  $\mathcal{H}_{\mathcal{T}}(\varphi, \psi, \alpha)$  and  $\mathcal{H}_{\mathcal{T}}^{h,p}(\alpha)$  are discussed, which would generalize and improve some recent works and earlier works (see, for details, Remark 2.2 and Remark 2.6 below.).

## 2. Coefficient Bounds for the Functions Classes $\mathcal{H}_{\mathcal{T}}(\varphi, \psi, \alpha)$ and $\mathcal{H}_{\mathcal{T}}^{h,p}(\alpha)$

**Theorem 2.1.** If the function  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in \mathcal{H}_{\mathcal{T}}(\varphi, \psi, \alpha)$ , then

$$|a_2| \leq \frac{\sqrt{2(A_1 + B_1)} A_1 B_1}{\sqrt{|2A_1^2 B_1^2 (\alpha^2 - 3\alpha + 4) + 2(2 - \alpha)^2 [A_1^2 (B_1 - B_2) + B_1^2 (A_1 - A_2)]|}}, \quad (2.1)$$

$$|a_3| \leq \frac{|\alpha^2 - 11\alpha + 16| [B_1^2 |A_2 - A_1| + A_1^3] + |\alpha^2 + 5\alpha - 8| A_1^2 [|B_1 - B_2| + B_1]}{|4A_1^2 (3 - 2\alpha) (\alpha^2 - 3\alpha + 4)|}. \quad (2.2)$$

*Proof.* Since  $f(z) \in \mathcal{H}_\tau(\varphi, \psi, \alpha)$ , then following the Define 1.1, there are analytic functions  $w_1(z), w_2(z) \in \Omega$ , such that

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} = \varphi(w_1(z)), z \in \Delta, \tag{2.3}$$

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} = \psi(w_2(z)), \omega \in \Delta, \tag{2.4}$$

where  $g(\omega) = f^{-1}(\omega)$ . In order to prove this Theorem, we define the functions  $\mathcal{Y}_1(z)$  and  $\mathcal{Y}_2(z)$  as

$$\mathcal{Y}_1(z) = \frac{1 + w_1(z)}{1 - w_1(z)} = 1 + r_1z + r_2z^2 + \dots < \frac{1+z}{1-z}, z \in \Delta, \tag{2.5}$$

$$\mathcal{Y}_2(z) = \frac{1 + w_2(z)}{1 - w_2(z)} = 1 + s_1z + s_2z^2 + \dots < \frac{1+z}{1-z}, z \in \Delta. \tag{2.6}$$

It notes that  $\mathcal{Y}_1(0) = \mathcal{Y}_2(0) = 1$ , moreover,  $\mathcal{Y}_1(z)$  and  $\mathcal{Y}_2(z)$  have a positive real part in  $\Delta$ . In fact,

$$w_1(z) = \frac{\mathcal{Y}_1(z) - 1}{\mathcal{Y}_1(z) + 1} = \frac{1}{2} \left( r_1z + \left( r_2 - \frac{r_1^2}{2} \right) z^2 + \dots \right), \tag{2.7}$$

$$w_2(z) = \frac{\mathcal{Y}_2(z) - 1}{\mathcal{Y}_2(z) + 1} = \frac{1}{2} \left( s_1z + \left( s_2 - \frac{s_1^2}{2} \right) z^2 + \dots \right). \tag{2.8}$$

So, following (1.2),(1.3),(2.7) and (2.8), we have

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} = \varphi\left(\frac{\mathcal{Y}_1(z) - 1}{\mathcal{Y}_1(z) + 1}\right) = 1 + \frac{1}{2}A_1r_1z + \left(\frac{1}{2}A_1\left(r_2 - \frac{r_1^2}{2}\right) + \frac{1}{4}A_2r_1^2\right)z^2 + \dots, \tag{2.9}$$

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} = \psi\left(\frac{\mathcal{Y}_2(\omega) - 1}{\mathcal{Y}_2(\omega) + 1}\right) = 1 + \frac{1}{2}B_1s_1\omega + \left(\frac{1}{2}B_1\left(s_2 - \frac{s_1^2}{2}\right) + \frac{1}{4}B_2s_1^2\right)\omega^2 + \dots \tag{2.10}$$

Moreover, following (1.1), we have

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} = 1 + (2 - \alpha)a_2z + (2(3 - 2\alpha)a_3 + \frac{(\alpha - 2)^2 - 3(4 - 3\alpha)}{2}a_2^2)z^2 + \dots, \tag{2.11}$$

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} = 1 - (2 - \alpha)a_2\omega + \left((8(1 - \alpha) + \frac{1}{2}\alpha(\alpha + 5))a_2^2 - 2(3 - 2\alpha)a_3\right)\omega^2 + \dots \tag{2.12}$$

Now, equating the coefficients of (2.9)-(2.12), we have

$$(2 - \alpha)a_2 = \frac{1}{2}A_1r_1, \tag{2.13}$$

$$2(3 - 2\alpha)a_3 + \frac{(\alpha - 2)^2 - 3(4 - 3\alpha)}{2}a_2^2 = \frac{1}{2}A_1\left(r_2 - \frac{r_1^2}{2}\right) + \frac{1}{4}A_2r_1^2, \tag{2.14}$$

$$-(2 - \alpha)a_2 = \frac{1}{2}B_1s_1, \tag{2.15}$$

$$(8(1 - \alpha) + \frac{1}{2}\alpha(\alpha + 5))a_2^2 - 2(3 - 2\alpha)a_3 = \frac{1}{2}B_1\left(s_2 - \frac{s_1^2}{2}\right) + \frac{1}{4}B_2s_1^2. \tag{2.16}$$

Following (2.13) and (2.15), we have

$$r_1 = -\frac{B_1}{A_1}s_1. \tag{2.17}$$

Also, from (2.14),(2.15) and (2.16), we get

$$a_2^2 = \frac{\frac{1}{2}A_1r_2 + \frac{1}{2}B_1s_2}{\frac{(\alpha-2)^2-3(4-3\alpha)}{2} + 8(1-\alpha) + \frac{1}{2}\alpha(\alpha+5) - (2-\alpha)^2\frac{B_2-B_1}{B_1^2} - (2-\alpha)^2\frac{A_2-A_1}{A_1^2}}$$

$$= \frac{A_1^2B_1^2(A_1r_2 + B_1s_2)}{2A_1^2B_1^2(\alpha^2 - 3\alpha + 4) - 2(2-\alpha)^2[A_1^2(B_2 - B_1) + B_1^2(A_2 - A_1)]}$$

Since  $\mathcal{Y}_1(z) \in \mathcal{P}, \mathcal{Y}_2(z) \in \mathcal{P}$ , where the  $\mathcal{P}$  denotes the class of functions with positive real part. So  $|r_1| \leq 2, |s_1| \leq 2$ (see [4]), which gives us the desired estimate on  $|a_2|$  as asserted in (2.1). Next, in order to find the bound on  $|a_3|$ , by following (2.14),(2.16) and (2.17), we get

$$2(3-2\alpha)a_3 = \frac{1}{2}A_1(r_2 - \frac{r_1^2}{2}) + \frac{1}{4}A_2r_1^2 - \frac{\alpha^2 + 5\alpha - 8}{2} \cdot \frac{\frac{1}{2}B_1(s_2 - \frac{s_1^2}{2}) + \frac{1}{4}B_2s_1^2 + 2(3-2\alpha)a_3}{8(1-\alpha) + \frac{1}{2}\alpha(\alpha+5)}$$

So

$$a_3 = \frac{(\alpha^2 - 11\alpha + 16)[B_1^2(A_2 - A_1)s_1^2 + 2A_1^3r_2] + (\alpha^2 + 5\alpha - 8)A_1^2[(B_1 - B_2)s_1^2 - 2B_1s_2]}{16A_1^2(3 - 2\alpha)(\alpha^2 - 3\alpha + 4)},$$

which gives us the desired estimate on  $|a_3|$  as asserted in (2.2). This completes the proof of Theorem 2.1.  $\square$

- Remark 2.2.** (1) Taking  $\varphi(z) = \psi(z)$  in Theorem 2.1, we can obtain the results proved by Ali et al.[1, Theorem 2.4].  
 (2) Taking  $\varphi = \psi, \alpha = 1$  in Theorem 2.1, we can obtain the results proved by Ali et al.[1, Corollary 2.1].  
 (3) Taking  $\varphi = \psi, \alpha = 0$  in Theorem 2.1, we can obtain the results proved by Ali et al.[1, Corollary 2.2].  
 (4) Taking  $\varphi(z) = \psi(z) = (\frac{1+z}{1-z})^\gamma = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots (0 < \gamma \leq 1)$  and  $\alpha = 1$  in Theorem 2.1, we can reduce to the estimates proved by Brannan et al.[2, Theorem 2.1].  
 (5) Taking  $\varphi(z) = \psi(z) = \frac{1+(1-2\gamma)z}{1-z} = 1 + 2(1-\gamma)z + 2(1-\gamma)z^2 + \dots (0 < \gamma \leq 1)$  and  $\alpha = 1$  in Theorem 2.1, we can reduce to the estimates proved by Brannan et al.[2, Theorem 3.1].  
 (6) Taking  $\varphi(z) = \psi(z) = \frac{1+(1-2\gamma)z}{1-z} = 1 + 2(1-\gamma)z + 2(1-\gamma)z^2 + \dots (0 < \gamma \leq 1)$  and  $\alpha = 0$  in Theorem 2.1, we can reduce to the estimates proved by Brannan et al.[2, Theorem 4.1].

**Theorem 2.3.** If the function  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in \mathcal{H}_\sigma^{h,p}(\alpha)$ , then

$$|a_2| \leq \sqrt{\frac{|h''(0)| + |p''(0)|}{2|\alpha^2 - 3\alpha + 4|}} \tag{2.18}$$

$$|a_3| \leq \left| \frac{\alpha^2 - 11\alpha + 16}{2(\alpha^2 - 3\alpha + 4)} \|h''(0)\| + \left| \frac{\alpha^2 + 5\alpha - 8}{2(\alpha^2 - 3\alpha + 4)} \|p''(0)\| \right| \tag{2.19}$$

*Proof.* Since  $f \in \mathcal{H}_\sigma^{h,p}(\alpha)$ , it follows from the Definition 1.2 that

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} = h(z) (z \in \Delta)$$

and

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} = p(\omega) (\omega \in \Delta),$$

where  $h$  and  $p$  satisfy the hypotheses of Definition 1.2. Here, let the functions  $h(z)$  and  $p(\omega)$  have the following series expansions:

$$h(z) = 1 + h_1 z + h_2 z^2 + \dots \tag{2.20}$$

and

$$p(\omega) = 1 + p_1\omega + p_2\omega^2 + \dots, \quad (2.21)$$

respectively. Moreover, following (1.1), we have

$$\left(\frac{zf'(z)}{f(z)}\right)^\alpha \left(1 + \frac{zf''(z)}{f'(z)}\right)^{1-\alpha} = 1 + (2-\alpha)a_2z + (2(3-2\alpha)a_3 + \frac{(\alpha-2)^2 - 3(4-3\alpha)}{2}a_2^2)z^2 + \dots, \quad (2.22)$$

$$\left(\frac{\omega g'(\omega)}{g(\omega)}\right)^\alpha \left(1 + \frac{\omega g''(\omega)}{g'(\omega)}\right)^{1-\alpha} = 1 - (2-\alpha)a_2\omega + \left((8(1-\alpha) + \frac{1}{2}\alpha(\alpha+5))a_2^2 - 2(3-2\alpha)a_3\right)\omega^2 + \dots \quad (2.23)$$

Now, equating the coefficients of (2.20)-(2.23), we have

$$(2-\alpha)a_2 = h_1, \quad (2.24)$$

$$2(3-2\alpha)a_3 + \frac{(\alpha-2)^2 - 3(4-3\alpha)}{2}a_2^2 = h_2, \quad (2.25)$$

$$-(2-\alpha)a_2 = p_1, \quad (2.26)$$

$$(8(1-\alpha) + \frac{1}{2}\alpha(\alpha+5))a_2^2 - 2(3-2\alpha)a_3 = p_2. \quad (2.27)$$

From (2.25) and (2.27), We find that

$$(\alpha^2 - 3\alpha + 4)a_2^2 = h_2 + p_2,$$

So

$$a_2^2 = \frac{h_2 + p_2}{\alpha^2 - 3\alpha + 4},$$

which gives us the desired estimate on  $|a_2|$  as asserted in (2.18). Next, in order to find the bound on  $|a_3|$ , by subtracting (2.27) from (2.25), we get

$$4(3-2\alpha)a_3 + (8\alpha - 12)a_2^2 = h_2 - p_2.$$

So

$$a_3 = \frac{\alpha^2 - 11\alpha + 16}{\alpha^2 - 3\alpha + 4}h_2 - \frac{\alpha^2 + 5\alpha - 8}{\alpha^2 - 3\alpha + 4}p_2.$$

This completes the proof of Theorem 2.3.  $\square$

**Corollary 2.4.** If the function  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in \mathcal{S}_{\mathcal{T}}(h, p)$ , then

$$|a_2| \leq \frac{1}{2} \sqrt{|h''(0)| + |p''(0)|}, \quad |a_3| \leq \frac{3}{2}|h''(0)| + \frac{1}{2}|p''(0)|.$$

*Proof.* Taking  $\alpha = 1$  in Theorem 2.3, it is easily seen to yield Corollary 2.4.  $\square$

**Corollary 2.5.** If the function  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in \mathcal{C}_{\mathcal{T}}(h, p)$ , then

$$|a_2| \leq \sqrt{\frac{|h''(0)| + |p''(0)|}{8}}, \quad |a_3| \leq 2|h''(0)| + |p''(0)|.$$

*Proof.* Taking  $\alpha = 0$  in Theorem 2.3, it is easily seen to yield Corollary 2.5.  $\square$

**Remark 2.6.** (1) Taking  $h(z) = p(z) = \left(\frac{1+z}{1-z}\right)^\gamma = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots (0 < \gamma \leq 1)$  in Theorem 2.3, then we have

$$|a_2| \leq \frac{2\gamma}{\sqrt{|\alpha^2 - 3\alpha + 4|}}, \quad |a_3| \leq 2\gamma^2 \left| \frac{\alpha^2 - 11\alpha + 16}{\alpha^2 - 3\alpha + 4} \right| + 2\gamma^2 \left| \frac{\alpha^2 + 5\alpha - 8}{\alpha^2 - 3\alpha + 4} \right|.$$

Furthermore, if  $\alpha = 1$ , then we have  $|a_2| \leq \sqrt{2}\gamma$ ,  $|a_3| \leq 8\gamma^2$ , in fact, this result is an improvement of Brannan et al.[2, Theorem 2.1].

(2) Taking  $h(z) = p(z) = \frac{1+(1-2\gamma)z}{1-z} = 1 + 2(1-\gamma)z + 2(1-\gamma)z^2 + \dots (0 < \gamma \leq 1)$  in Theorem 2.3, then we have

$$|a_2| \leq 2 \sqrt{\frac{1-\gamma}{|\alpha^2 - 3\alpha + 4|}}, \quad |a_3| \leq 2(1-\gamma) \left| \frac{\alpha^2 - 11\alpha + 16}{\alpha^2 - 3\alpha + 4} \right| + 2(1-\gamma) \left| \frac{\alpha^2 + 5\alpha - 8}{\alpha^2 - 3\alpha + 4} \right|.$$

Furthermore, if  $\alpha = 1$ , then we have  $|a_2| \leq \sqrt{2(1-\gamma)}$ ,  $|a_3| \leq 8(1-\gamma)$ , in fact, this result is an improvement of Brannan et al.[2, Theorem 3.1].

## References

- [1] R.M. Ali, S.K. Lee, V.Ravichandran et al, Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions, Appl. Math. Lett. 25(2012)344–351
- [2] D.A. Brannan, T.S.Taha, On some classes of bi-univalent functions, Studia Univ.Babeş-Bolyai Math. 31(2)(1986)70–77.
- [3] B.A.Frasin, M.K.Aouf, New subclasses of bi-univalent functions, Appl. Math. Lett. 24(2011)1569–1573.
- [4] D.J.Hallenbeck, T.H.MacGregor, Linear Problems and Convexity Techniques in Geometric Function Theory, Boston: Pitman Advanced Publishing Program, 1984.
- [5] T. Hayami and S. Owa, Coefficient bounds for bi-univalent functions, Pan Amer.Math.J. 22(4)(2012),15–26.
- [6] W.C.Ma, D.Minda, A unified treatment of some special classes of univalent functions, in:Proceedings of the Conference on Complex Analysis, Tianjin,1992,157-169,Conf.Proc.Lecture Notes Anal.I,Int.Press,Cambridge,MA,1994.
- [7] H.M.Srivastava, A.K. Mishra, P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, Appl. Math. Lett. 23(2010)1188–1192.
- [8] H.M. Srivastava, Serap Bulut, Murat Çağlar et al, Coefficient Estimates for a General Subclass of Analytic and Bi-Univalent Functions, Filomat. 27(5)(2013), 831–842.
- [9] Q.H.Xu, Y.C.Gui, H.M.Srivastava, Coefficient estimates for a certain subclass of analytic and bi-univalent functions, Appl. Math. Lett. 25(2012)990–994.
- [10] Q.H. Xu, H.G. Xiao, H.M. Srivastava, A certain general subclass of analytic and bi-univalent functions and associated coefficient estimate problems,Appl.Math.Comput.218(2012)11461–11465.